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1101[XK1E dbimE 250 2500 0 2500 10 0 0 0 1728 0 1188
EE 125 1250 0 1250 10 0 0 0 864 0 648
RE 20 300 0 300 15 0 0 0 0 540 0
& 395 4050 0 4050
1141[54R BmE 4 20 0 20 5 0 0 0 2916 0 864
S 6 60 0 60 10 0 0 0 1728 0 1512
GhH 10 80 0 80
1201|833 EF 257 3855 0 3855 15 0 0 0 1512 0 756
(&) 257 3855 0 3855
1203|F ¥ AY HE 140 1400 0 1400 10 0 0 0 1350 0 1274
BHE 100 1500 0 1500 15 0 0 0 0 810 0
E& 94 940 0 940 10 0 0 0 1728 0 1188
=% 50 750 0 750 15 0 0 0 0 1134 0
) 384 4590 0 4590
1207[ & G 1088 109 109 0
1209| B & dLiEE 1 3 0 3 3 0 0 0 0 1620 0
JLiEE 5 25 0 25 5 0 0 0 2916 0 2700
) 6 28 0 28
1221[=vE GH 12 17 0 17
1227[KE EE 120 48 48 0 0.4 238 0 92 0 0 0
126 250 50 0 50 0.2 0 0 0 119 0 97
Eh 370 98 48 50
1245 /MR EE 200 40 0 40 0.2 0 0 0 0 146 0
EE 135 54 54 0 0.4 292 0 281 0 0 0
(&) 710 169 54 115
1301[#aF S 40 12 0 12 0.3 0 0 0 0 205 0
=) 200 100 0 100 0.5 0 0 0 248 0 151
EmE 26 104 0 104 4 0 0 0 2160 0 1296
S 77 385 0 385 5 0 0 0 3024 0 1404
BiE 240 96 0 96 0.4 0 0 0 232 0 205
(&) 605 805 0 805
1311[F=E I & 60 240 0 240 4 0 0 0 3564 0 2592
(&) 60 240 0 240
1321 [#R dLiEE 260 1300 0 1300 5 0 0 0 2700 0 1836
BiE 90 450 0 450 5 0 0 0 2592 0 1296
Eh 363 1815 0 1815
13B1E—<> [EE 690 104 0 104 0.15 0 0 0 0 135 0
Eh 690 104 0 104
1355|455 BERS 240 24 0 24 0.1 0 0 0 0 97 0
Eh 600 60 0 60
1501 [HE EE 128 640 0 640 5 0 0 0 972 0 864
[&0) 128 640 0 640
1513|A—H94> |dtiEE 510 5100 0 5100 10 0 0 0 2160 0 540
Eh 510 5100 0 5100
1521 |83 ZiE 10 100 0 100 10 0 0 0 5400 0 3780
Gh 10 100 0 100
1541 | E& dLiEE 255 5100 0 5100 20 0 0 0 1609 0 1501
Gh 255 5100 0 5100
1603|tz)L) — & 7 70 0 70 10 0 0 0 3888 0 3564
Gh 7 70 0 70
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1609[F7Oval)  [diEE 90 720 0 720 8 0 0 4147 0 3240
=% 10 60 0 60 6 0 0 4104 0 3348
GhH 100 780 0 780
1611[LER EF 20 100 0 100 5 0 0 2160 0 1620
f=554 20 200 0 200 10 0 0 2916 0 2700
& 40 300 0 300
1612 Y=L AR |[EF 15 75 0 75 5 0 0 2268 0 2160
ED 15 75 0 75
1627|2=k<k [&D) 75 225 0 225
1715| K3 = 20 2 0 2 0.1 0 0 648 0 378
GhH 20 2 0 2
1803 | E EE 630 63 0 63 0.1 0 0 135 0 103
EE 930 186 0 186 0.2 0 0 239 0 66
& 1560 249 0 249
1807 |#B f=554 200 20 0 20 0.1 0 0 0 45 0
EF 210 42 0 42 0.2 0 0 92 0 77
(&) 410 62 0 62
1809|L&HL R 500 50 0 50 0.1 0 0 51 0 49
=% 30 6 0 6 0.2 0 0 0 97 0
Eh 530 56 0 56
* EEET * 16475 56922 313 56609
220528 A 87 870 0 870 10 0 0 4212 0 3564
[E)) 87 870 0 870
2421 | FixsEM | F0FIL 143 1073 0 1073 75 0 0 4752 0 2484
(&) 143 1073 0 1073
2609 | B f=154 100 35 0 35 0.35 0 0 0 605 0
(&) 100 35 0 35
2611|EA—2  |EL 16 6 0 6 0.4 0 0 400 0 356
Eh 16 6 0 6
2616|S<AAL__|EL 12 8 0 8 0.7 0 0 0 1728 0
el Ly 14 70 0 70 5 0 0 8640 0 7020
(&) 26 78 0 78
2701[7—JLR _ |5%HE 1 9 0 9 9 0 0 0 15120 0
(&) 1 9 0 9
2821 [ETER EE 120 48 0 48 0.4 0 0 508 0 475
EE 252 126 0 126 0.5 0 0 389 0 259
Eh 372 174 0 174
* S EEET * 1490 4491 0 4491




